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1. ACo. takes a full year's depreciation expense in the year of an asset's acquisition
and no depreciation expense in the year of disposition. Data relating to one of A's
depreciable assets at December 31, 2007 are as follows:

Acquisition year 2005
Cost $170,000
Residual value 20,000
Accumulated depreciation 120,000
Estimated useful life 5 years

Using the same depreciation method as used in 2005, 2006, and 2007, how
much depreciation expense should A record in 2009 for this asset?
(A) $10,000 (B)$20,000 (C)$30,000 (D) $34,000

2. If K Company acquired a 30% interest in W Company on December 31, 2009 for
$202,500 and during 2010 W Company had net income of $80,000 and paid a
cash dividend of $25,000, applying the equity method would give a debit balance
in the Investment in W Company Stock account at the end of 2010 of

(A) $147,000 (B) $186,000 (C) $219,000 (D) $257,500
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Black Company leases a machine from Red Corp. under an agreement which
meets the criteria to be a capital lease for Black. The six-year lease requires
payment of $105,000 at the beginning of each year, including $18,000 per year
for maintenance, insurance, and taxes. The incremental borrowing rate for the
lessee is 10%; the lessor's implicit rate is 8% and is known by the lessee. The
present value of an annuity due of 1 for six years at 10% is 4.79079. The present
value of an annuity due of 1 for six years at 8% is 4.99271. Black should record
the leased asset at
(A) $416,798 (B) $434,366 (C) $589,267 (D) $614,028

X Corp.'s transactions for the year ended December 31, 2008 included the
following:

e Acquired 50% of Gant Corp.'s common stock for $180,000 cash which was
borrowed from a bank.

e Issued 6,000 shares of its preferred stock for land having a fair value of
$384,000.

e Had a net increase in returnable customer deposits (long-term) of $88,000.

e Purchased a patent for $250,000 cash.

e Paid $120,000 toward a bank loan.

e Sold available-for-sale securities for $832,000.

e Issued 500 of its 11% debenture bonds, due 2013, for $392,000 cash.

X’s net cash provided by financing activities for 2008 was

(A) $660,000 (B) $572,000 (C) $540,000 (D) $452,000.

During 2008, Peter Co. introduced a new product carrying a two-year warranty
against defects. The estimated warranty costs related to dollar sales are 2%
within 12 months following sale and 4% in the second 12 months following sale.
Sales and actual warranty expenditures for the years ended December 31, 2008
and 20009 are as follows:

Actual Warranty

Sales Expenditures
2008 $ 800,000 $12,000
2009 1,000,000 30,000
$1,800,000 $42,000

At December 31, 2009, Peter should report an estimated warranty liability of
(A) $66,000 (B) $30,000 (C) $12,000 (D) $0
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On July 1, 2008, Z, Inc. issued 9% bonds in the face amount of $5,000,000,
which mature on July 1, 2018. The bonds were issued for $4,695,000 to yield
10%, resulting in a bond discount of $305,000. Z uses the effective-interest
method of amortizing bond discount. Interest is payable annually on June 30. At
June 30, 2010, Z's unamortized bond discount should be

(A) $215,000 (B) $244,000 (C) $255,000 (D) $264,050.
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(A) $5,100 (B) $5,000 (C)$5,067 (D) $5,049
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(A) $4,200 (B) $7,000 (C) $5,600 (D) $5,250
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Herzogg Enterprises purchased plant assets on January 1, 2011, at a cost of
$400,000. Herzogg applies the ” revaluation model” of 1AS 16 to plant assets,
Herzogg also uses the straight-line depreciation method, a 4-year estimated
useful life, and no residual value. At the end of 2011, independent appraisers
determined that the assets have a fair value of $390,000.

Instructions

(a)Prepare the journal entry to record the revaluation of the plant assets. (5%)

(b)Prepare the journal entry to record 2012 depreciation, assuming no additional
revaluation. (5%)
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